% Vi g

T f&-Ticp:
4x* — D2x+1) - % —4x -2 2x— (2= 2x)(2x — 6)(3x — 6)
3x — (5 + 3x)(6x — 2)(x — 6) (> — 4x—6)(4x—2)—2 % 5x— 5
5x— (3 - 5x)(6x — 4)(5x + 4) (4x* — 2x+ 6)(2x+4)—2 x 4x— 5
(% + 3)(3x+ 6) + 55 +3x +3 (dx + 2)(dx* —x— 5)+ (2x — D(x+ 1)
(x+ 2)(2x— 5)(4x + 6) (5x— 6)(x + 6)(4x + 3)
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§gUq [dHR

- IFGIGE THR:
42— D2x+1) - —4x—2 2x— (2— 20)(2x — 6)(3x — 6)
8x° + 3x% — 6x— 3 12 — 72x% + 134x— 72
3x = (5 + 3x)(6x — 2)(x — 6) (° —4x—6)(4x—2)—2 % 5x— 5
—18x" + 84x” + 157x — 60 A — 18x% — 26x + 7
5x— (3 = 5x)(6x — 4)(5x + 4) (4% — 2x+6)(2x+4)—2 x4x— 5
150x° — 70x° — 87x + 48 8 + 12x% —4x + 19
(o + 3)(3x+6) + 5¢ +3x +3 (4x+ 2)(4x* —x—5)+ (2x— D)(x+ 1)
3% 4+ 112 + 12x + 21 1602 + 6x2 —21x— 11
(x+ 2)(2x— 5)(4x + 6) (5x— 6)(x + 6)(4x + 3)
8x° + 8x” — 46x — 60 20x° + 111x° — 72x — 108

www.snowmath.com


https://www.snowmath.com

